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& Answer all questions.

¢ [n each of the questions 1
a5 correct or most appropriate

4 Mark a cross

BOAWER.

following is a veclor quantityT
(Z) time

1. Which of the
‘17 weight

name of Jungle Fowl.
{1} Gallus l.ﬂfﬂ:,‘ﬁl.ll
3) Gallns lafpetti

i mndmmﬂducemgminﬁ

{13 In vaporization of watet
(3) In melting al wis
{3, Who is the tertiary CONSUMRED in this food web?
(1) Cock
(2) Python
{3) Hawk
(4) Cmt

to 40, pick one of the alternafives (1), (25 (3 {4) which you pofsider

(%) on the number corregponding 12
on the back of the aRswer sheet.

¥ Further {psiruciions ore piven
e

2. According Lo the ctandards of hinomial pomenciaiine,

in the answer sheet provided.
Fallow them carefully.

your choice

() GALLUS LAFAYETTI |
() Gallus Lafayetti

(2) Im burning of fire

(1 O (2) Hy (3 €O, 4 Ny
4. Which of the following sceds is adapted for dispersal by wind?

(1) Rubber {2) Epala {3 Bitter gourd i4) Wara .
5. "What is the colouf of phenolphthalein in the basic medium?

(1) Red {2) Pink i3 Yellow {4) Blue
i whatisuunﬁdlhmhmdﬁxummiundnﬁb:rlmT

(1) HC (2 H,S0, 3, CHYCO0H {4) HNO,
7. Which of the following 1s an pmphoteric omice?

(1) NaO (2 POy ) AL, (4) CLO,
§. Which of the following can be psed as a disinfectant?

(1) Chlorine (2 lodine (3) Baric acid {4} Magnesium hydroxide
9 The catalyst which is used in the manufacture of sulphuric acid by the contact method i

{1} Copper. (3 ¥ kel {3y lroa, {4) Vemadium pentoxide.
0. Monocolyledonae plants

(1) bear trimerous i (2) shaw secondary growth,

(3) possess leaves with a reticulate venation.  (4) have @ tap rool.
11. In which of the following instances does @ chemical change oocur?

wiond

4y In meliing of moth balls
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{2) 2

in s dr;rmdbli.:ﬂm in:l-'cﬂi!mamdnn
h of the following deficien
{2) '-"l'r_imin B
of the following Satemeniy o false .
108y Nt hegis N be dope mﬂﬁﬂalry.
ar energy | Converied jngq i
is

dng night-time e
i in [y [T k3

o

TPerature v, o,
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Hot water Cold waler P |

P. Which of the following strdegies 8

Cnnddu’ﬂfuﬂwimmwmnlﬂmﬂhyaﬂudﬂﬂ.
A - Cinnamon oll can be
B-Pwﬂlmnh:uﬂnhwdfmnﬂedlh}'u!ingfmﬁimﬂlniuﬂhﬁm
¢ - Distilled wawmnheuuﬂn:dﬁnmw:llun‘mbgmingﬂmpleﬁ!ﬁlluiul.

'Iumahm:na!.ﬂmﬂﬂw
(1 only A and B arc troe.
(3) only A gnd  are moe.

(2) only B and C are tre.
() ﬂIA.Bl.ndIf.'I'I:ln!,

Which of the Tollowing reactions is a neutralization reaction?
(N l:!a‘llil-irI-i,lil—|'I::al{'l[2IIH]|= (2 F:Sl]‘+1fhm‘]—’FﬂﬂH]:+hh:59‘
{3) NaDH + HCOl — NaCl + HO {#) CaCl, + Na,COy — CaCO, + 2NaCl

Tltd:::mirﬂlI'mnul‘-ﬂ-nfll'llmhmﬂﬂﬁflnﬂlﬂhmlﬂhhltmj-miilhtdmhﬂlfmmﬂﬂullhc

chloride of MT
(1) MCI () MO (3 Ma, 4 MCL,
Wishmﬁdﬂmms‘mﬂgdﬂ&,w? [C=12.0=1ﬁ]

(n 2 (1) 6022 x 107 ﬁ}zxﬁmxmﬂ {ﬂ'ﬂ:ﬁ.ﬂﬂ:lﬁ“

Thﬂpr:puﬁﬂdapuﬂmh‘dmmmgﬂmhhm
-mnminmrﬂammrmmuwdlaslnmﬂwrm
® Insoluble in wuﬁ.hlvmnﬂuhhintﬂl solvent.

'lEWIHwilhlh'luuﬂn.mmlir.
Wﬂﬁmrﬂlwiugmﬂmhmmmwmﬁﬂ? ;
(1) Na (2) Mg 3 C 4 5

i) {hnﬂuﬂm}UIIliﬂ!wnflhlmmﬂimﬂﬂl.
ﬂfl]'ﬁcml.ll:‘tsu:[ﬂlﬂ.

mwﬂﬂﬂﬂmﬂlnﬂﬂmhmﬂﬂb%‘Ihlnflhﬂwth.'lfﬂ!:[ﬂﬂhﬁmﬂlamd:ﬂﬁmmthﬁ
earth is ll]mP".whatwuldhnmnw:igmqraan[mﬁnu.muan
1000
=N

() N () 10N (3) 100 N @ 5

Thllml:l-lﬂI'rlﬂimanaﬂHinlsduﬂmrmtd,whml_mulﬂdMDHthﬂiﬂHImﬂHI:H

waler is
1

(0 o
Which of the following Stalemenls is false regarding the electrochemical

cell given in the figume?
£ lrmﬂripanlsuﬁmumd:_
(2) A reduction reaction occurs al the copper sirip. o el
(3) Gas bubbles evolved rapidly at the iron strip.
{4) Electrons flow iowards the copper sirip 8cross the extermal wire
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35, What js mtﬂumummhylhmﬂ"
(n La @ 2 A (3) 34 ) 6 A

L Cmuiﬂerﬂnfnlfnwingthmmhvnlmﬂumudm:f:ntildhlmajghlh:plmfmamufnmirl-
Time (s) [0]1]2]3 'K ﬁ]?[sfgimhﬂ
Displacement (m) o] 2aTaTs 6| 6 afﬂf?ldiziu_f

ij%nmiwhmMﬂ:aﬂwﬂhmmur f ! _;}
the coil stationary

.MI.M.SWHMﬁm&hﬂMMMHMWMIMku
ﬂm-miulhtflﬂtmringtlhlr. :

Nsme [ Anp . Jagath Sujith Namal
Rice String hoppers {made Bread (made up of Hun:il,’n‘n:hlptf
Food up of rice flour) wheat four) wheat flour)
Dhal curry Dhal cumy Dhal curry Fotaio curry
i G:nmumibn'ﬁshmny _E‘mmm Coconul sambal
Rmmdmmubadhnmﬂhﬂmdﬁwuﬁmmmmdmmhdhmnﬁmmﬁmﬂwm
Ellya area mmwmmmmmmmmm and wheat
ﬂmhﬂbmﬂdnhmfmhﬁuuﬂﬂmmwmy.
Ami@y.whhﬁmmﬂmnmlwﬂﬁﬂnluﬁmfmdmlh?
(1) Anil (2} Jagaih {3) Swyith (4) Mamai _J
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